AXF= A ABCpr P -8Py 17 PA:PB:PC=3:4:5-
Created by Mr. Francis Hung Last updated: 03 July 2023
Locate a point P inside an equilateral triangle ABC so that PA: PB: PC=3:4:5.
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3:4:5 Point inside an equilateral triangle Created by Mr. Francis Hung

() ™ AZEw~w > AB 5 EfEiv- []A) o

2) *»BCirdze T L &F¢ gE-
EA ehzt £ W2 {1255 F o

3) ##&%BF-CF-

4 FlrEgzEPph-2gH @ F
BH:HC=4:3-

(5) @I FHI2E LFA*Go

(6) @4 BG~CG-

(7) M BG i kif- E:#= £3;BGP -
(P & AABC p ©)

8 @#EPA-PB-~PC-

THRE  HEP AT

AFBE = AFCE (S.A.S.) C
L BF=CF (2 %= £ )% ki#)

% BH=4k » HC =3k

% /BHG =
ZCHG =180° — a (B8 eniid)
/BGF = /CGF =6 ($ 4% &)
4k :sin® =BG :sina ...... (1) (**ABGH & * & 52 £32)
3k:sin®=CG :sin (180°—a) ...... (2) (**ACGH & * 1+ 5% T32)
F1#* sin (180° — o) = sin q;
(1)+(2):4:3=BG:CG
% BG=4t> CG=3t
ZABP = 60° — ZCBP = ZCBG
AABG = ACBG (SAS)
AP = CG = 3t (252 458
BP = BG = 4t (2 %= &%)
%F % /BAC =300° (P78 &)
ABGCZ%F % /BAC = 150° (Flw &3 BF% &)
Z/BGP = 60° (%= &35k
ZCGP =150° — 60° = 90°
CP?=CG? + GP? (&~ 232)
= (3t + (4ty
CP =75t

PA:PB:PC=3:4:5-
PaHEmtER - ZP2ldo
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